




























































































































































In this question n is an integer
a There is at least one value of n

Such that h is even and n is odd

b Given n is odd assume n is even

h even n 2K for some
integer k

m2 2K 4h2
n 2 2h2
ht is even Contradiction

o h is odd

Negation of Statements

Proof by Contradiction





































































pA can be written as p q integersq
B cannot be written in this way

Assume C is rational

j C I for h K integersk

p t Bhq K

B hq Pq
hav PK an integer
Hq an integer

B is rational contradiction
C is irrational since assumptionwrong

Let A be a rational number

Let B be an irrational number

Suppose A + B = C

Prove C is irrational



